Potenzen mit ganzzahligen Exponenten * Potenzgesetze

Wieder holungsaufgaben
1. ara"=am" 2. am:a =a"" 3. a'b" = (ab)"
4, a':b" = (ab)" 5 (a")m=am
Definition: X—ln = x N (& =1 furjedes =0 )

Wichtige binomische Formeln:
(@a+bf=a+2ab+B ; (a-bj=&-2ab+B ; &-» =(a-b)(a+h)
Vereinfachen Sie:

2 -2
1 (a3”+2 ) b3) ) [a2n+2 . p2 ) = = g2np-2mgd

pm-1 - cn -1 * c2n-3

c4.(a2 -4b2)3 3c-5 5 ~ L

2. (3a+6b)2 : g(abe"’)‘_Z +§.ca 1b.(a+2b) = ... = g(a+2b)c
(x—11-2

3. (1+(X1)_(X>;_21) —x-(1l+2x+x2) =..=1-2x2 - x83

b(8.2+4a+4)3 . -2 b 2b 2\ _ b—l 2 + 4 _ _ ﬁ_
4. (5a+r10)2 - (577-(ab+2b)%) (a ) == 5

xa—11 _1_ gyxa+l 3 4y3m—2 -2 _ 5
S. [6y3m‘12) : (Zym+2J : W = .y
6 3sk—2 — sk _ 1
n+2 _

7. an_l _ 1+Xx2n +(1-x"1).x2-n = _x=2n
g [PN2 . ad). (22 g _ N
' gm-1 - st ) sh-1 " (-s)2n-3 ) T -~ —pP'q S
9. yx_65 1,3

R




